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1. [for examplel] DfEVLA

BAZED [BUWSAFERLRRLLIZEDZEE D TLD, IZEXIE DAS., XO>. BVWULIMWETY, | H#IEVWVEXEZERRTDE My
grandfather grows many different fruits. For example, apples, melons, and delicious peaches. | (C/2> TUES. FEEEEIN
R T, BICRDFERA. ETCOEXINTEEEBSFRNANVETT,

x For example, apples, melons, and delicious peaches. O For example, he grows apples, melons, and delicious peaches.

2. land] & lbecausel] ZXBEATIIEDRWC &
COOHEEE(IIEFREI T, 2 DDOXNERIERT DHEETT, EBHRACVWSEELZEI RS TEVWWTIN, land] & lbecausel (IXEETIE
BRIV EVNWDSCEFBEBITHLMNEEGFIHNDET,

x They are easy to make. And, they are both healthy. O They are easy to make and they are both healthy.
x Sushi is very popular. Because it is delicious and healthy. O Sushi is very popular because it is delicious and healthy.
x Why do they like anime? Because it is exciting. O Why do they like anime? They like it because it is exciting.

3. [and so on] &Z{#EHRXVLC &
BEARWC, CORRIFIBVNWEWTXE(CESZEEFURVWTWVWEFEZULLD, landsoon] £D. FlZ2DD3DEBETETEAEDRNEL L
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x Last summer, I read One Piece, Naruto, Dragon Ball, Golgo 13, Detective Conan, Doraemon, Slam Dunk, and so on.
O Last summer, I read many comic books. The most interesting were Slam Dunk, Naruto, and Doraemon.

4. BFDEES(ICDONT
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x There are 8 tennis balls in Mr. Parker’s lunch box. O I ate six bananas last night.
x 1 mileis 1.7 kilometers. O One mile is 1.7 kilometers.



